

ROMANIAN MATHEMATICAL MAGAZINE

Prove that:

$$\int_1^{\infty} \frac{\ln(\ln x)}{1-x+x^2} dx = \frac{2\pi}{\sqrt{3}} \ln \Gamma\left(\frac{5}{6}\right) - \frac{\pi}{3\sqrt{3}} \ln(2\pi)$$

Proposed by Lunjapao Baite-India

Solution by Shohbit Jain-India

$$I = \int_1^{\infty} \frac{\ln(\ln x)}{1-x+x^2} dx \stackrel{x \rightarrow \frac{1}{x}}{=} \int_0^1 \frac{\ln\left(\ln \frac{1}{x}\right)}{x^2-x+1} dx = f'(1)$$

$$\text{define, } f(s) = \int_0^1 \frac{\left(\ln \frac{1}{x}\right)^{s-1}}{x^2-x+1} dx = \int_0^1 \frac{\left(\ln \frac{1}{x}\right)^{s-1}}{x^2-2x\cos\left(\frac{\pi}{3}\right)+1} dx$$

$$\sum_{n=1}^{\infty} x^n \sin(n\theta) = \text{Im} \left(\sum_{n=0}^{\infty} x^n e^{in\theta} \right) = \text{Im} \left(\frac{1}{1-xe^{i\theta}} \right) = \text{Im} \left(\frac{1}{1-x\cos\theta - ix\sin\theta} \right) = \frac{x\sin\theta}{1-2x\cos\theta+x^2}$$

$$\Rightarrow \frac{1}{1-2x\cos\theta+x^2} = \sum_{n=1}^{\infty} x^{n-1} \frac{\sin(n\theta)}{\sin\theta}$$

$$\Rightarrow \frac{1}{x^2-2x\cos\left(\frac{\pi}{3}\right)+1} = \sum_{n=1}^{\infty} x^{n-1} \frac{\sin\left(\frac{n\pi}{3}\right)}{\sin\left(\frac{\pi}{3}\right)} = \frac{2}{\sqrt{3}} \sum_{n=1}^{\infty} x^{n-1} \sin\left(\frac{n\pi}{3}\right)$$

$$\Rightarrow f(s) = \frac{2}{\sqrt{3}} \sum_{n=1}^{\infty} \sin\left(\frac{n\pi}{3}\right) \int_0^1 \left(\ln \frac{1}{x}\right)^{s-1} x^{n-1} dx = \frac{2}{\sqrt{3}} \Gamma(s) \sum_{n=1}^{\infty} \frac{\sin\left(\frac{n\pi}{3}\right)}{n^s}$$

$$\Rightarrow f'(s) = \frac{2}{\sqrt{3}} \Gamma'(s) \sum_{n=1}^{\infty} \frac{\sin\left(\frac{n\pi}{3}\right)}{n^s} - \frac{2}{\sqrt{3}} \Gamma(s) \sum_{n=1}^{\infty} \frac{\log_e n}{n^s} \sin\left(\frac{n\pi}{3}\right)$$

$$\Rightarrow f'(1) = \frac{2}{\sqrt{3}} \Gamma'(1) \sum_{n=1}^{\infty} \frac{\sin\left(\frac{n\pi}{3}\right)}{n} - \frac{2}{\sqrt{3}} \Gamma(1) \sum_{n=1}^{\infty} \frac{\log_e n}{n} \sin\left(\frac{n\pi}{3}\right)$$

here, $\Gamma'(1) = \Gamma(1)\psi(1) = -\gamma$ (γ is Euler - Mascheroni's constant)

ROMANIAN MATHEMATICAL MAGAZINE

$$\begin{aligned} \text{And, } \sum_{n=1}^{\infty} \frac{\sin\left(\frac{n\pi}{3}\right)}{n} &= \text{Im}\left(-\ln\left(1 - e^{\frac{i\pi}{3}}\right)\right) = -\text{Im}\left\{\ln\left(1 - \cos\left(\frac{\pi}{3}\right) - i\sin\left(\frac{\pi}{3}\right)\right)\right\} \\ &= \tan^{-1}\left(\frac{\sin\left(\frac{\pi}{3}\right)}{1 - \cos\left(\frac{\pi}{3}\right)}\right) = \tan^{-1}\left(\cot\left(\frac{\pi}{6}\right)\right) = \frac{\pi}{2} - \frac{\pi}{6} = \frac{\pi}{3} \end{aligned}$$

Now, from Kummer's series:

$$\frac{1}{2} \ln\left(\frac{\Gamma(x)}{\Gamma(1-x)}\right) = \left(\frac{1}{2} - x\right)(\gamma + \ln(2\pi)) + \frac{1}{\pi} \sum_{n=1}^{\infty} \frac{\log_e n}{n} \sin(2n\pi x)$$

$$\stackrel{x=\frac{1}{6}}{\Rightarrow} \frac{1}{2} \ln\left(\frac{\Gamma\left(\frac{1}{6}\right)}{\Gamma\left(\frac{5}{6}\right)}\right) = \frac{1}{3}(\gamma + \ln(2\pi)) + \frac{1}{\pi} \sum_{n=1}^{\infty} \frac{\log_e n}{n} \sin\left(\frac{n\pi}{3}\right)$$

$$\frac{\Gamma\left(\frac{1}{6}\right)}{\Gamma\left(\frac{5}{6}\right)} = \frac{\Gamma\left(\frac{1}{6}\right)\Gamma\left(\frac{5}{6}\right)}{\Gamma^2\left(\frac{5}{6}\right)} = \frac{2\pi}{\Gamma^2\left(\frac{5}{6}\right)} \Rightarrow \frac{1}{2} \ln\left(\frac{\Gamma\left(\frac{1}{6}\right)}{\Gamma\left(\frac{5}{6}\right)}\right) = \frac{1}{2} \ln(2\pi) - \ln\Gamma\left(\frac{5}{6}\right)$$

$$\Rightarrow \sum_{n=1}^{\infty} \frac{\log_e n}{n} \sin\left(\frac{n\pi}{3}\right) = \frac{\pi}{2} \ln(2\pi) - \pi \ln\Gamma\left(\frac{5}{6}\right) - \frac{\pi}{3}(\gamma + \ln(2\pi)) = -\pi \ln\Gamma\left(\frac{5}{6}\right) - \frac{\pi}{6} \ln(2\pi) - \frac{\pi\gamma}{3}$$

$$\Rightarrow f'(1) = -\frac{2\gamma\pi}{3\sqrt{3}} - \frac{2}{\sqrt{3}}\left(-\pi \ln\Gamma\left(\frac{5}{6}\right) - \frac{\pi}{6} \ln(2\pi) - \frac{\pi\gamma}{3}\right) \Rightarrow I = \frac{2\pi}{\sqrt{3}} \ln\Gamma\left(\frac{5}{6}\right) - \frac{\pi}{3\sqrt{3}} \ln(2\pi)$$